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Instructions for Candidates

1.~ Write your Roll No. on the top immedintely on receipt
of this question paper,

2.  Attempt all questions,
3. All questions carry cqual marks,
4. Use of Simple Calculator and is allowed,

5. Answers may be written either in English or Hipg;.
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but the same medium should be used throughouy (he
paper.

Notc: Financial Tables will be pmvidcd Lo you in (he
Examination Hall,
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1. (a) What do you understand by risk and return of a

securlty? Explain the relatlonshlp between them

How I‘lSk is dlfferent from uncertainty? ‘ (8)

(b) What do you mean by Time Value of money?
Explam the reasons for Tlme Value of money.

- How can time be adjusted in flnanmal decision

making? . (10)



6007

(a)

3

OR
0,
&1000

. . , ive
(1) Mr. Mahesh is expecting to rece! d of

 amounts received by Mr. Mahesh ove

(i)

Rs.20000 and Rs.30000 at tP°
r and thif
S 10% p-&
e of the

first year, second yea
from now. If interest raté i

calculate the total present vall
r the

next three years.

Mr. Mahesh is to receive from second

- investment Rs.40000 (Future Value) at the

end of 5 years from now. If the interest rate

is 15% p.a. find out the present value of the

second investment. | (4%2=8)

(b) Explain in brief any four sources of short-term

finance. | " (10) -

2.  What do you mean by Ratio Analysis? Briefly exblain

1ts s* mificance and limitations. | (18)

P.T.O..
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OR

A project requires an initial investment of Rs.400000.
It is estimated to have a life of 6 years. The estimated

net cash flows are as under

Net Cash Flow (Rs)
1 50000

2 70000
3 90000
g tag 100000
5

6

Year

110000
80000

Cost of capital is 10%. Calculate
(a) Payback Period
(b) Net Present Valué

(c) Internal Rate of Return of the project

Assume that the standard payback period is 4 years.
' Should the project be accepted as per each of the

abov o4
e measures’ | | (13)
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. ABC Ltd has the i‘ollowing capital Strllt‘.llrc
/
fﬁ‘é‘é‘@“ﬁ?’piﬁiﬁiéf - R, 10,00.000
/
e . e
Total Rs.Z0,0@
et. Recent

All these securities are traded in the mark

© prices are:

Debentures @ Rs.110 per debenture

Preference Shares @ RS.120 per share

Equity shares @ Rs.25 per share

ay a dividend of Rs.2 per

The company expects to P
e end of the year which is expected tq

p.a. The company pays income tax @

he company’s cost of capital using

share at th
grow at 7%

30%. Calculate t

market value, weights.
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OR

Calculate the degree of operating leverage (DOL),

degree of financial leverage (DFL) and the degree_of

combined leverage (DCL) for the following firms and

interpret the results.

them.

Particulars Fim A | Firm B Firm C
Output (units) 60,000 | 15,000 | 1,00,000
Fixed costs (Rs) 7,000 | 14,000 | 1,500
Variable cost per unit (Rs) 0.20 1.50 0.02
Interest on borrowed funds (Rs) | 4,000 8,000 e
Selling price per unit(Rs) 0.60 5.00 0.10
(18)

(a) What are the different types of dividends? Explain

®)

(b) Explain briefly the factors which influence the

dividend policy of the firm.

OR

(10)

(a) What are the factors affecting working capital

requirement in a manufacturing company?  (8)
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(b) The cost o

’ ,
: ata ”

7 Ltd providCS the following d

f XY C

[ (ost per Unit (Rs)
Particulars /————/
BT R
: 50
Raw materials //_____——/
Direct Labour 2_0__..-/
Overheads _’________3_(_),/
Total cost | 100 _
Profit | 204___’____%.
Selling Price 120 |

Average raw material in stock is for on€ month.

Averaee materials in work- in- progress are for half

month Credit allowed by suppliers one month |
cred1t allowed to debtors one month. Average time
lag -in payment o\f‘wages 10 days, average time
lag in payment of ovefheads 30 days, 25% of the
sales are on cash basis. Minimum cash balance to
be maintained is Rs.l,OO.,OOO. Finished goods lie i

the warehouse for one month.

Estimate Net working capital requirement for an

annual output of 54000 units. ’ (10)

P.T.().
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5. () MrX holds the following portfolio
Share Beta Investment
P 0.6 600000
Q 1.0 360000
R 1.2 240000

What is expected rate of return on his portfolio, if
the risk-free rate is 6 percent and the expected

return on market portfolio is 15 percent. (8)

(b) Explain briefly any four latest contemporary issues

in Finance? | | ' ‘ (10)
OR
- Write short notes on :
- (a) Valuation of quityshares

(b) Valuation of Bond

(c) Stock-split and bonus shares (6%3=18)
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W 15% W a9 2, T FOW AR [y g
2 (4x2=g)

P.T o
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v RAEE ® R 400000 TR B WRRYER FEw =
FEEEA B 3| TEE AT 6 9 B W FTAA 2
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T[S PG UaT8 (Rs)

50000

90000

100000

110000

G
1
2 | 70000
3
4
5
6

80000
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3. W fofics & oo G feefiiag 2-

%ﬁ%ﬁm@ Rs.10,00,000
10% F8Tar IR (3iferd geu Rs.2,00,00(
100 $9% 93 TR) | )
12% BdR @ifamea Rs.8,00,000
100 393 Ufg fesR) |

- Rs.20,00,000

P.T.0,
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N =
fagRor FHA | BB | wHC
ITITYE (TN 60,000 | 15.000 | 100,000
RR arg () 7,000 | 14,000 | 1,500

uﬁ gfAe afvadHig arra (Fad) 020 | 150 | 0.02
SUR ol T eeRIR TR WS (@) | 4000 | 8000 | - |
uid g fowa e (vu) 0.60 | 5.00 O'L

(18)
4. (&) m_%ﬁﬁ?mw%"?maﬁﬁm (8)

(@) R @ R R e @ A
Ry = TRE FQ@ D SN (10)
o
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— 5 Cost per Unit (RS)
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> 0.6 600000 |
Q 1.0 360000 |
R R 240000
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